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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

QAT AT 370 U9 U W AT 37 Aad: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

[t 7Y T A 3T ¢

All the questions are compulsory.

T TR 1 I Al e ITR-GRAH H & AE |

Write the answer to each question in the given answer-book only.
S TR T ST I @UE §, 39 Wl % IR T W & o |

For questions having more than one part the answers to those parts
are to be written together in continuity.

T U % Bl I UST UK H Al PR P I / R/ SRENT g
W ERT T % W9 R Fel A |

If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should
be treated valid.
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6. WY EEAT 3 U T

1-13 1

14-24 2
25-27 3
28-30 4

Q. Nos. Marks per question

1-13 1

14-24 2
25-27 3
28-30 4

7.  UYH SRETH 21, 27, 28, 29 T 30 H I IH IHeT § |

Question Nos. 21, 27, 28, 29 and 30 have internal choices.

1. AT i AT 3 h{H bl I T WU |

Write the formula to calculate the molality. 1

2.  YaUYshdl & SI HEE TEU|

Write the SI unit of Resistivity. 1

3. Mg2t g 1™ Al i JieR =ershdl SEE: 106:0 s.ocm 2 .mol ~L

TN 76:3 s.cm?.mol "L &1 MgCly I TN HieR Tlefshal I0d I 5T |
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Limiting molar conductivities of Mg2+ and Cl~ ions are

106:0 s.cm?.mol™! and 763 s.cm?.mol™} respectively. Calculate

1

5+

N|—

the limiting molar conductivity of MgCl, .

4. Ba(N3),® M 99T & F1 TA § ? ( HAe ST THAT H FHGH

[SREI)

What happens on thermal decomposition of Ba(N3)y ? ( write only

equation of the reaction ) 1

5. CyHy=N—CH,=CH;~CHj~ CHy F1 IUPAC 17 @1T
CyHy

Write IUPAC name of C2H5—1|\T— CH,—CH;—CH;~ CHj . 1
CoHs

6.  [Cr(Hp0)4Bry, |Cl % 3T&H THEEE! &l T QT
Write the formula of ionisation isomer of [Cr(HyO)4Bro |CI. 1

7. TR AR - e (I11) STNeHsIsh I T T g A T |

Write the formula of coordination compound  mercury

tetrathiocyanato-cobaltate (III). 1
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10.

11.

12.

4
T BT €, 9 § 5 ST A9 FANIES i 3T Y HAT G ITH TSRS d

FE S € 2 (FaeT 31 A HIT T FHH] o TE0)

What happens when benzene diazonium chloride reacts with

potassium iodide ? ( write only equation of the reaction ) 1

TUSET & Toh-iihd (68 Ush TedTe SgeTeh aidl & |
Explain that vulcanised rubber is an elastomer. 1

FH A THAT F o0 AT RRIF I THE YRUS L T1 A THAT T IS AT
g ?

For a reaction the unit of rate constant is sec_l. What will be the

order of reaction ? 1

A THAT 2A + B—> IR & TaHoI T FHGHUT & G|

Write differential rate equation for the reaction, 2A + B—— product.

H3PO5 ! 8Tl &1 § 2

What is the basicity of H3PO3 ? 1
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14.

15.

16.

17.

5
ATIEH 3T, 4-0 ST oI5 3T UG 4-ATE2asigeh 3T i AT T

% 9gd Y § FARd I ST |

Arrange benzoic acid, 4-methyl benzoic acid and 4-nitrobenzoic acid in

increasing order of their acidic strength. 1

T Ta 9o Sl SIEI0T 9 & AHEET |
Explain calcination and roasting with example. 1+1=2

e o TFHcR0T i T IR0 T & THEN |

Explain denaturation of protein with an example. 1+1=2

400 K TYFH TR Hdll Fo1g= Sl TWRRT & 0-0821 AIHSH & df Jotd= i

gl Hiet/eAlel § FE I [R = 0:0821 L atm K~ mol ™1 |

Osmotic pressure of a solution is 0:0821 atm at a temperature of

400 K. Calculate the concentration of solution in mol/litre.

[R=00821Latm K Tmol™! |

N —
N|—
]
N

(31) WIS & T NS & FAF AIH H A G|

() W BEZGIT TIHIS T A bl °F TR
(@)  Write Faraday's second law of electrolysis.

(b) Draw labelled diagram of standard Hydrogen electrode. 1 + 1 =2
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18.

19.

20.

21.

6

A AET 3 9 AT I 0T FX D! hATT & FHART :
(CHz)3;CBr+OH ™ (Sedl) ——

Complete the following reaction and explain its mechanism :

(CH;)3CBr + OH ™ (ag) —> +14 =2

N~

1
2

A A G AR H 3T dgd g ARG A H FaRAd F HRUT WL
EhQ[Ter:

C,HsNH,, NH;, CH:NH,

Arrange the following compounds in increasing order of their basic

strength. Explain reason :

C,HsNH,, NH;, CgHsNH, 1+1=2

AN TAT W TEeTshI 0T | g q 3R T WU |

Write any two differences between addition and condensation

polymerisation. 1+1=2
(37) FARME % 3V d & NaOH ToTd & 37 9 AT Tl THFOT o T |
(F) HzPO, ! TIAH Uk o I THEMET |

AT
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22.

7

(31) IR &l TR 9 K NaOH TotaH T 37 T 5T i THIHUT AT @ |

(@) PClg ™ UM s q9qed T el € 2 FHEIE |

(@) Write an equation of the reaction of chlorine with cold and

dilute NaOH solution.

(b) Explain the reducing nature of H3PO, . 1+1=2
OR
(@) Write an equation of reaction of chlorine with hot and

concentrated NaOH solution.

(b) Why are all the five bonds of PCl5 not equivalent ? Explain.

1+1=2

T HIE ST YHAT HI UG FIAA 10 sec €, df HF AT @RIH w0
HI S

Half life period for first order reaction is 10 sec. Calculate the rate

constant for the reaction. % + 1% =2
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23.

24.

8

G dY WET % SR W WEEEY % [ Ni(CN), |2 U A= s

Gl 3T €

Explain on the basis of valence bond theory that [Ni(CN )4] 2= is a low

spin complex ion.

T 1 G AT A 37 9 SHATST T YT i ST ¢

Cl+CH,—Cl
@ (o)

(¥  CHy-CH,-Cl+KCN—2—

1o AICL,

(¥ CH3-CH=CH,+HI——

()  CH;-CH,-OH+NaBr+H,S0, ——>

Complete the following chemical reactions :

o @

(b)  CHy-CH,-Cl+KCN—4

anhydrous AlCl;

()  CHz-CH=CH,+Hl——
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25.

26.

(30

€))

(b)

(3m)

)

()

9
SRV el T 8 &l 0T o A AT

ol H R YT d W &Y THR & IEEelh I

Bl & 7 WHHE |
Write the values of axial angles for hexagonal crystal system.

Which type of semiconductor is obtained by doping boron with

silicon ? Explain. 1+2=3
AT e Y Fed & 2
STAHTEN AT THh HY Fed ¢ 7 TH 33T & 94 |

M2 (STeti) 3 (Z = 29 ) % U ‘WEhUT W' gEehig SATE0T Y

UM &I ST
What is Lanthanoid contraction ?

What are Interstitial compounds ? Give an example.

Calculate the 'Spin only' magnetic moment of M2+( aq ) ion

(Z=29). 1+1+1=3
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27. (30)

)

€3)

(3m

()

€3))

(2)

(b)

10
3T NEERI FHH Fed ¢ ? Ush IS0 o §U |

30T U U W YRt B @ F AT TYKH TWCH H U FA HAT

SATE ?

AR o IAMOETRT § HiE T FR o Q|

ROMEAT TSI & Fed & ? T IS0 A TU |

T R | IWEE @ A S € 2 i R @
T WY I ehiv] WY T aSiamn] § Hig Uk FR o U |
What are non-narcotic analgesics ? Write an example.

Why is artificial sweetening agent, Aspartame used only in soft

drinks and cold foods ?

Write any one difference between antiseptics and disinfectants.

OR
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28. (31

()

€3))

(31

€))

11

What is anionic detergent ? Write an example.
Why are chemicals added to food ? Write any two reasons.

Write any one difference between broad spectrum and narrow

spectrum antibiotics. % + % +1+1=3

T=Ted 3SRUT 9 F8d & 2 Teh IR0 T @U |

T4 FY TR T AR § ? T

SRIASHUT Toe bl ATHi el o 9 & THSRy |

AT

3ITeh ! SOl i Fed & 2 IS0 T & |

TAA ST & b SRS Ua 3 799 Tohes 9t &l 7 4 i W
ERIRGIR A

Z=eeT UG i A hel = | & THET |

What is enzyme catalysis ? Write an example.

Which type of emulsion is milk ? Explain.

Explain Electrophoresis with labelled diagram.

%+%+1+1+1=4

OR
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29. (37)

€))

(30

12

What is selectivity of catalyst ? Write example.

What happens when hydrated ferric oxide sol is mixed with

arsenius sulphide sol ?

Explain Tyndall effect with labelled diagram.

+=+1+1+1=4

1,1
2 2

AT A G TR % [UPAC 9 A EU :

() CH,=CH-CH,-OH

i) CHz = CH™CHz
OH OH OH

T o G T T 37 T AT & HII0T o G

()  HMT F CS, H AR T F SHA F W

(i) TIART @ Cu Pl IURIT H 573 K A0 W TRY A W |
et

AT A @A ARl o TUPAC 1H o1 @U :
() CH3—O—(I3H—CH3
CH,

(i) CHz (I:H —CH; OH
CH,
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() TEAAET THE TR 3T T HATST F GHHOT A EU -
() T H W HNO 3% a1

(i) T P TG T 5 |
(@) Write [UPAC names of the following compounds :
(i) CH, = CH- CH, - OH

(i) ?Hz - ?H_?Hz
OH OH OH

(b) Write equations of the following chemical reactions :

(i) Phenol reacts with Bry in presence of CSo

(i) Ethanol is heated at 573 K in presence of Cu.
(1+1)+(1+1)=4
OR
(@) Write IUPAC names of the following compounds :

CH,

(i) CHz (I:H —CH; OH
CH,
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30.

(b)

(3m)

()

()

(3m)

()

()
()

(b)

(©)

14

Write equations of the following chemical reactions :

(i) Phenol reacts with conc. HNO 3

(i)  Phenol reacts with zinc dust. (1+1)+(1+1)=4

SIS 3TIF9T | WO o B |

FARIUE 2k 3TFA, FARNGI 2ok 3T ohi ol § 3T€sh 3Tl ¢l
7 ?
FHTEIcIE 3TEA i TR TG S |

AT

- HIR TS W U0 o GU |

I AT STl o Fa2Hish o UM 3UYR aT Ufegereel aan

HIZHAl 9 =9 B ¢, T 2

TS 3T i IS U H o9 ol §ad hi ST S130 |

Write a note on Rosenmund reduction.
Why is fluoroacetic acid more acidic than chloroacetic acid ?
Draw the resonating structures of carboxylate ion.

2+1+1=4
OR
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(@)  Write a note on Wolff-Kishner reduction.

(b) Boiling point of carboxylic acids are higher than aldehydes and

ketones of comparable molecular masses. Why ?
(c) Draw the dimer structure of ethanoic acid in vapour state.

2+1+1=4
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